Nous sommes trois nombres

entiers consécutifs.

Notre somme est égale a 474.

Quel est notre chiffre des dizaines ?

Nous sommes trois nombres

entiers consécutifs.

Notre somme est égale a 591.

Quel est notre chiffre des dizaines ?

Nous sommes trois nombres

entiers consécutifs.

Notre somme est égale a 852.

Quel est notre chiffre des dizaines ?

Nous sommes trois nombres

entiers consécutifs.

Notre somme est égale a 729.

Quel est notre chiffre des dizaines ?

Nous sommes trois nombres

entiers consécutifs.

Notre somme est égale a 1 308.

Quel est notre chiffre des dizaines ?

Nous sommes trois nombres

entiers consécutifs.

Notre somme est égale a 819.

Quel est notre chiffre des dizaines ?



